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Instruction :  All questions are compulsory.

1. (A

(B)

2. (A)

(B)

MA-112

What is Financial Markets ? Explain in detail the structure of Financial Markets. 14
OR
(1) Explain the relevance of time and space in context to financial transactions. 7

(2) Discuss the basic idea of Risk Measurement. How risk and reward are
related ? 7

Answer any four of the following in one or two sentences : 4
(1) What s volatility ?

(2) What is compound process ?

(3) Write an equation to calculate future value by compounding process.

(4) Name any two types of options.

(5) Name at least six different risks related to financial transactions.

(6) What is meant by risk and uncertainty ?

Explain in detail the market segmentation theory, expectations hypothesis and

liquidity premium theories of term structure of interest rates. 14
OR

(1) What s yield curve ? How is the yield to maturity calculated for a bond ? 7

(2) How are interest rates decided under loanable funds theory ? 7

Answer any four of the following in one or two sentences : 4

(1) What are administered interest rates ?
(2) What are bid and offer rates ?

(3) What s risk free interest rate ?

(4) What is real interest rate ?

(5) What is meant by zero coupon bond ?
(6) What is free interest rate ?

3 P.T.O.



3. (A)

(B)

4. (A

(B)
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Explain in detail the law of one price.
OR
(1) Explain in detail the principles of market valuations.

(2) Explain how the problems of adverse selection and moral hazard arise.

Answer any three of the following in one or two sentences :
(1) What is financial arbitrage ?

(2) What is meant by accounting measure of value ?

(3) State the lemon's problem.

(4) What is the basic idea of CAPM. ?

(5) What is meant by systematic risk ?

Explain the concept of derivatives and differentiate between options and futures.

OR
(1) Define derivatives and explain swaps in detail.
(2)  Write a short note on Black- Scholes Model.

Answer any three of the following in one or two sentences :
(1) What are warrants ?

(2) What s strike price ?

(3) What s price discovery ?

(4) What is meant by Rights ?

(5) What are the costs considered in cost of carry theory of futures pricing ?
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Time : 2:30 Hours]

Instruction :
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All questions are compulsory.

1. (A) Explain the term price mechanism. Describe the merits and demerits of price
mechanism in a free market economy.

(B)

MA-112

(D
)

OR

What is Business Economics ? Explain the importance of Business
Economics.

Explain in brief the components of GDP.

Attempt any four from the following :

(1)

)

€)

(4)

©)
(6)

Business economics is basically a theory of

(a) Industry (b) Government income
(c) Firm (d) None of the above
Business activity is a

(a) Political activity (b)  Social activity

(c) Religious activity (d) Economic activity

Which of the following method is used to solve basic economic problems in
a socialist economy ?

(@) Human values (b) Price mechanism

(c) Trial and error method (d) None of the above

Which among the following formula is right ?

(a) GNP at factor cost = GNP at market price + Indirect taxes + Subsidy
(b) GNP at factor cost = GNP at market price — Indirect taxes — Subsidy
(c) GNP at factor cost = GNP at market price + Indirect taxes — Subsidy
(d) GNP at factor cost = GNP at market price — Indirect taxes + Subsidy
Give any two characteristics of Business Economics.

Business Economics dealt with

(a) Application of economic theory to business decisions

(b) Financial management

(c) Human Resource development

(d) Marketing management

8

[Max. Marks : 70
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2. (A) Define Inflation. Explain the effects of Inflation and anti-Inflationary policy. 14

OR

(1) What is Interest ? Discuss in brief the various concepts of interest. 7
(2) Explain the limitations of Fisher's equation of exchange for Quantity theory

of money. 7

(B) Attempt any four from the following : 4

(1) Broad Money means

(a) Ml (b)y M2

(c) M3 (d M4

(2)  Which of the following is the formula for per capita income ?
(a) Total National income + Total Population
(b) Total National income x Total Population
(c) Total National income — Total Population
(d) Total National income + Total Population
(3) What is personal income ?
(4) What is Fiat money ?
(5) National income at constant prices is known as
(a) Netincome (b) Real income
(c) Money income (d) Total income
(6) Ml refers
(a) Post office savings deposits
(b) Total deposit of post offices
(c) Currency plus demand deposits
(d) None of the above

3. (A) What is demand forecasting ? Explain the objectives and methods of demand
forecasting. 14

OR
(1)  Explain in brief the factors of production.

(2) Explain the meaning and assumptions of break-even analysis.

(B) Attempt any three from the following : 3
(1) Total cost + Total output =
(a) Marginal cost (b)  Average variable cost
(c) Average cost (d) Average fixed cost

MA-112 9 P.T.O.



(2)  Which cost is minimum where MC = AC ?
(a) Marginal cost (b) Average cost
(c) Average fixed cost (d) Total cost
(3) What is consumer's surplus ?
(4) Give any two assumptions of utility analysis.
(5) Marginal utility means
(a) Utility of the first unit (b) Utility of the last unit
(c) Utility of the additional unit (d) None of the above
(6) What is Diminishing Marginal Utility principle ?

4. (A) Explain in detail the equilibrium of the firm and industry under Perfect
Competition. 14

OR
(1) Discuss the distinguish between Oligopoly and Monopoly.
(2) Explain in brief Marginal Cost Pricing.

(B) Attempt any three from the following : 3
(1) Give any two advantages of Full Cost pricing policy.

(2) Who developed the concept of monopolistic competition ?

(a) John Robinson (b) Marshall

(c) Chamberlin (d) None of the above
(3) In which case, all costs are variable ?

(a)  Short run (b) Longrun

(c) Medium run (d) None of the above

(4) Explain bilateral monopoly.

(5) Which of the following is not a characteristic of monopolistic competition ?
(a) Many sellers
(b) Many buyers
(c) Absence of perfect knowledge

(d) Homogenous product

MA-112 10
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2. (A)

(B)

3. (A)

(B)
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1. (A) Explain the differences between economic growth and economic development.
Write about the concept of P.Q.L.I. (Physical Quality of Life Index) and B.N.I.
(Basic Needs Index) in context to economic development. 14
OR

(B)

MA-112

Explain the meaning of economic growth and economic development. Discuss the
indicators of economic growth and economic development in brief.

Answer the following questions : 4
(1) Economic growth includes
(a) rise in national income (b) change in infrastructure
(c) change in social structure ~ (d)  All of the above
(2) Economic progress is a concept related to
(a) Economic growth (b) Economic development
(c) Both of the above (d) None of the above
(3) Economic development is a
(a) concept of developed countries
(b) single dimensional process
(c) multi dimensional process
(d) None of above
(4) What s true for Economic development ?
(a) Itis qualitatative term.
(b) It includes human development.
(c) Itisrelated to developing countries.

(d) All of the above
14



2. (A)

(B)
3. (A)
(B)
MA-112

Explain unbalanced growth strategy in detail. 14
OR

Explain the concept of balanced growth strategy in brief. Compare balanced
growth strategy with unbalanced growth strategy.

Answer the following questions : 4

(1)  Who explained the concept of unbalanced growth strategy ?

(a) Prof. Adam Smith (b) Prof. Keynes
(c) Prof. Pigou (d) Hirschman
(2)  Who put forward the theory of balance growth ?
(a) Hirschman (b)  Singer
(c)  Fredrick List (d) Fleming
(3) The concept of 3 types of indivisibility in context to growth model was
presented by
(a) Hirschman (b) Rodan
(c) Lewis (d) None of above
(4)  Which of the followings is the benefit of Unbalanced growth strategy ?
(a) Large scale production (b) Better division of labour
(c) Horizontal economies (d) All of the above

What is meant by human development ? Write about Human Development Report
in detail. 14

OR

Discuss the concept of Human Development Index (H.D.I.), Human Poverty
Index (H.P.I.) and Gender Development Index (G.D.I).

Answer the following questions : 3
(1) Human Development Report was introduced by
(a) W.H.O. (b) World Bank
(c) LM.F. (d) U.N.O.
(2) Gender Development Report considers
(a) Female literacy rate only
(b) Income of female only
(c) Gender Empowerment Measure
(d) None of above
(3) Human Poverty Index is introduced by
(a) UNCTAD (b) UN.O.
(c) USA. (d UK.
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4.  (A) Discuss the differences between administration and management in detail. 14

OR

Explain the characteristics and functions of administration.

(B) Answer the following questions : 3

MA-112

(1)

2)

3)

Transparency in administration means

(a) unfettered access to public (b) reliable information to public
(c) none of above (d) Dboth of above
Accountability in administration means

(a) Performing the entire work

(b) doing the work efficiently

(c) answerability for failing to meet stated performance
(d) none of above

Administration includes

(a) supervision (b) decision making
(c) both of above (d) none of above
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